C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) Thereare 841 hotelsin ahotel chain. If each hotel has 63 rooms, how many rooms are
there total ? 1
2.
2) A mail sorting machine can sort 615 pieces of mail an hour. If it ran for 86 hour, how
many pieces of mail would it have sorted? 3.
4.
3) Every hour asoup company produces 393 liters of soup. How much soup would the
company have made after 52 hours? 5.
6.
4) A lawn mowing company had 933 customers. If each customer paid 94 dollars ayear, how
much money would they make? 7.
8.
5) Thebooths at the state fair make 219 dollars an hour. How much money would they have
earned after 48 hours? 9.
10.

6) A candy store had 503 empty shelves. If each shelf can hold 98 pieces of candy, how many
pieces would they need total to fill up all the shelves?

7) If anindustrial machine could make 693 pencilsin a second, how many pencils would it
have made in 80 seconds?

8) A fundraising company went to 619 different schools delivering 27 boxes of candy to each
school. How many boxes did they deliver total?

9) A golf course driving range goes through 926 golf balls a day. How many golf balls would
they go through in 92 days?

10) A school district ordered 390 new science text books. If each text book had 97 pagesin it,
how many pages are there total in al the text books?
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Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) Thereare 841 hotelsin ahotel chain. If each hotel has 63 rooms, how many rooms are
there total ? 1 52,983
2. 52,890
2) A mail sorting machine can sort 615 pieces of mail an hour. If it ran for 86 hour, how
many pieces of mail would it have sorted? 3. 20,436
4. 87,702
3) Every hour asoup company produces 393 liters of soup. How much soup would the
company have made after 52 hours? 5. 10,512
6. 49,294
4) A lawn mowing company had 933 customers. If each customer paid 94 dollars ayear, how
much money would they make? 7. 55,440
8. 16,713
5) Thebooths at the state fair make 219 dollars an hour. How much money would they have
earned after 48 hours? 9. 85,192
10. 37,830

6) A candy store had 503 empty shelves. If each shelf can hold 98 pieces of candy, how many
pieces would they need total to fill up all the shelves?

7) If anindustrial machine could make 693 pencilsin a second, how many pencils would it
have made in 80 seconds?

8) A fundraising company went to 619 different schools delivering 27 boxes of candy to each
school. How many boxes did they deliver total?

9) A golf course driving range goes through 926 golf balls a day. How many golf balls would
they go through in 92 days?

10) A school district ordered 390 new science text books. If each text book had 97 pagesin it,
how many pages are there total in al the text books?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
16,713 55,440 49,294 10,512 85,192
20,436 37,830 87,702 52,983 52,890 1.
1) Thereare 841 hotelsin ahotel chain. If each hotel has 63 rooms, how many rooms are 5
there total ? '
3.
2) A mail sorting machine can sort 615 pieces of mail an hour. If it ran for 86 hour, how
many pieces of mail would it have sorted? 4.
5.
3) Every hour asoup company produces 393 liters of soup. How much soup would the
company have made after 52 hours? 6.
7.
4) A lawn mowing company had 933 customers. If each customer paid 94 dollars a year, how
much money would they make? 8.
9.
5) The booths at the state fair make 219 dollars an hour. How much money would they have
earned after 48 hours? 10

6) A candy store had 503 empty shelves. If each shelf can hold 98 pieces of candy, how many
pieces would they need total to fill up all the shelves?

7) If anindustrial machine could make 693 pencilsin a second, how many pencils would it
have made in 80 seconds?

8) A fundraising company went to 619 different schools delivering 27 boxes of candy to each
school. How many boxes did they deliver total ?

9) A golf course driving range goes through 926 golf balls aday. How many golf ballswould
they go through in 92 days?

10) A school district ordered 390 new science text books. If each text book had 97 pagesinit,
how many pages are there total in all the text books?
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